
Flat screen ceiling-to-floor mount                                  Flatscreen plafond-vloersteun 

Flachbild TV/Monitor Decken-Boden-Halterung                     Support colonne sol plafond pour écran plat 

Supporto da pavimento per schermo piatto                               Soporte de techo al suelo para pantallas planas 

Suporte de tecto ao chão para ecrãs planos                              Fladskærm loft-til-gulv montering 

                                                                                                               Golv-till-tak fäste för platta skärmar 

FPMA-CF200SILVER

Lattian ja katon väliin pingotettava näytön 
kiinnitystankoteline



FPMA-CF200SILVER

Step 1b

Step 1a Step 2

NL

ES

FR

EN

PT

PL

DE

IT

Monteer de plank 

Assemble the shelf 

Montare il ripiano 

Assemblage de l'étagère 

Instale el estante 

Instale a prateleira 

NL

ES

FR

EN

PT

PL

DE

IT

C (x1)

E (x1) F (x1) G (x1) H (x1)

W-A (x6) W-B (x6) W-C (x6)

M8x30 (x2)
M-D

M6x30 (x2)
M-C

M6x14 (x2)
M-B

M5x14 (x2)
M-A

M8x50 (x2)
M-E

(x2)
M-F

(x4)
M-G

(x4)
M-H

I (x3)

J (x1)

A (x2) B (x1)

D (x1)

K (x4) L (x1) M (x1)

Flat screen: 30 kg

Shelf: 5 kg
200x200/600x400mm

A 

B

4
m

m
 

W-A 

W-B 

W-C 

B

A 

4
m

m
 

H

F

NL

ES

FR

EN

PT

PL

DE

IT

 

Install the lower pole without screws 

 

Instale el poste inferior sin tornillos 

Instale o poste inferior sem parafusos 

Zainstaluj dolny bez u cia b

Install the lower pole using screws 

Instale el poste inferior usando tornillos 

Instale o poste inferior usando parafusos 



NL

ES

FR

EN

PT

PL

DE

IT

Mount the upper side of the rod 

Montare il lato superiore dell'asta 

 

Monte la parte superior de la barra 

Monte o lado superior da haste 

NL

ES

FR

EN

PT

PL

DE

IT

Hang the screen onto the bracket and secure it 

 

Cuelgue la pantalla en el soporte y asegúrela 

Step 6

Step 5

NL

ES

FR

EN

PT

PL

DE

IT

Gebruik afstandhouders indien nodig 

Use spacers if necessary 

NL

ES

FR

EN

PT

PL

DE

IT

Installeer het tussenstuk 

Install the intermediate piece 

Installieren des Zwischenstückes 

Installare il pezzo intermedio 

Installez l'entretoise 

Instalar la pieza intermedia 

Instalar a peça intermedia 

NL

ES

FR

EN

PT

PL

DE

IT

Step 3

Step 4a

D

E 

L

M-A 

M-F 

M-B

M-F 

E 

L

M-C
 M-D 

M-F 

M-H 

M-E 

M-F 

M-H 

M-G 

M-F 

M-H 
M-G 

M-E M-E 

M-C
 M-D 

M-F 

M-H 
M-G 

Step 4

Option

C

2
m

m
 

G

A



Step 7

Option

NL

ES

FR

EN

PT

PL

DE

IT

 

Connect the upper pole with the lower pole 

Collegare il palo superiore con il palo inferiore 

Conecte el poste superior con el polo inferior 

Ligue o poste superior com o polo inferior 

NL

ES

FR

EN

PT

PL

DE

IT

Install the upper pole using screws 

Step 8

Step 9

NL

ES

FR

EN

PT

PL

DE

IT Regolare il supporto nella posizione desiderata 

Ajuste o suporte na posição desejada 

NL

ES

FR

EN

PT

PL

DE

IT

Werk kabels weg 

Colocacion de los cables 

Colocação dos Cabos 

Organizacja kabli

BACK

SIDE

m
in

2
2
0
0
m

m
-m

a
x
2
7
0
0
m

m

M

1

2

Optional step for more stability.

W-A 

W-B 

W-C 
A 

3

2

1

ADJUSTING IN USE

I

K J

de stang

Instale el poste superior usando tornillos 

Instale o poste superior usando parafusos 


